
© 2001 American Honda Motor Co., Inc - All Rights Reserved. AII 22904 (0109) 1 of 9

INSTALLATION
INSTRUCTIONS

Accessory Application Publications No.

Issue Date

SEP 2001

08L92-S0X-1001-91

2002 ODYSSEYTRAILER HITCH KIT

PARTS LIST

Trailer Hitch:
P/N 08L92-S0X-100

Plate L

Trailer hitch

Ball mount

Hitch pin

Hitch pin clip

6  Bolts, 12 x 40 mm

6  Lock washers, 12 mm

6  Plain washers, 12 mm

Trailer hitch harness

Plate R

Heavy-Duty P/S Cooler Kit
P/N 53765-S0X-305

AII 22904

Y0599E2

Receiver cover

2 Small wire ties
(1 not used)

7 Cushion tapes

Washer-bolt, 6 x 12 mm

Flange nut, 6 mm

Heavy-duty P/S Cooler

ATF Cooler Kit
P/N 06255-P7T-305

ATF Cooler

Rubber hose

Washer-bolt, 6 x 15 mm

2 Bolts, 6 x 10 mm (not used)

Bracket (not used)

3 Hose clamps

Hose spacer

Mirror "hang tag"



2 of 9 AII 22904 (0109) © 2001 American Honda Motor Co., Inc - All Rights Reserved.

Customer Information: The information in this
installation instruction is intended for use only by
skilled technicians who have the proper tools,
equipment, and training to correctly and safely add
equipment to your vehicle. These procedures should
not be attempted by “do-it-yourselfers.”

TOOLS AND SUPPLIES REQUIRED
Phillips screwdriver
Flat-tip screwdriver
Ratchet
5 mm, 6 mm, 10 mm, 12 mm, and 19 mm Sockets
Pliers
Utility knife
Clip remover
Sandpaper
Torque wrench
Drill
17 mm Hole saw
Gloves
Blanket

INSTALLATION

NOTE: Let the P/S fluid, the ATF, and the surrounding
parts cool down before you install the coolers.

1. If equipped, make sure you have the anti-theft
code for the radio, then write down the
frequencies for the radio.

2. Disconnect the negative cable from the battery.

5-PIN
CONNECTOR

5 mm
WASHER-BOLTS

CLIP

BOLT
COVER

Installing the Trailer Hitch

3. Remove the rear taillights:

• Using a flat-tip screwdriver, pry open the two
bolt covers.

• Remove the two 5 mm washer-bolts, and pull
the taillight out toward you to release the clip.

• Unplug the 5-pin connector, and remove the
taillight.

• Repeat on the other side.



© 2001 American Honda Motor Co., Inc - All Rights Reserved. AII 22904 (0109) 3 of 9

SELF-TAPPING
SCREW

CLIP

CLIP

BUMPER
BOLT

COVER

CLIP REAR
BUMPER

SELF-TAPPING
SCREW

BUMPER
BOLT

COVER

SELF-TAPPING
SCREW

4. Remove the rear bumper:

• Remove the eight clips along the top and
bottom of the bumper.

• Remove the four screws (two on each side)
from the top at the taillight area and from the
bottom near the rear wheel.

• Using a clip remover, pry out and remove one
clip from each fenderwell.

• Using a flat-tip screwdriver, pry out and
remove the bumper bolt covers, then remove
the four bumper bolts.

• With the help of an assistant, release the
bumper from the fenderwell, and slide the
bumper away from the vehicle.

• Set the bumper on a blanket.

5. On the inside of the rear bumper, locate the
scribed line on each side of the bumper. Using a
utility knife, cut out the marked areas.

50 mm

17 mm
HOLE SAW

70 mm

REAR
BUMPER

6. In the center of the bumper, measure and mark
the bumper as shown.

7. While wearing eye protection, use a hole saw to
drill a 17 mm hole through the bumper.

8. Install the trailer hitch to the rear frame, using the
six 12 x 40 mm bolts, lock washers, and plain
washers. Place plate L and plate R between the
frame and the hitch on the left and right sides at
the rear bolts.

Cut out
this area.

SCRIBED LINE

9. Torque the trailer hitch bolts to 79 N•m (7.9 kgm,
 58 lb-ft).

REAR FRAME

PLATE L

LOCK
WASHER

PLAIN
WASHER

BOLT

TRAILER
HITCH

PLATE R



4 of 9 AII 22904 (0109) © 2001 American Honda Motor Co., Inc - All Rights Reserved.

10. Remove the tailgate weatherstrip and rear panel
(ten clips and two self-tapping screws).

SELF-TAPPING SCREW

REAR PANEL

CLIP

TAILGATE WEATHERSTRIP

11. Remove the jack cover and the jack (one knob
and four retaining tabs).

JACK

KNOB

JACK
COVER

SELF-TAPPING
SCREW

RETAINING
TABS

12. Remove the two self-tapping screws.

13. Pry up on the two clips and the three retaining
tabs, and pull out the left side panel.

RETAINING  TAB

CLIP

LEFT SIDE PANEL

CLIP

TAILGATE
WEATHERSTRIP



© 2001 American Honda Motor Co., Inc - All Rights Reserved. AII 22904 (0109) 5 of 9

VEHICLE
HARNESS

GROUND
TERMINAL

CUSHION
TAPE

VEHICLE
HARNESS

WASHER-BOLT

FLANGE NUT

TRAILER HITCH
HARNESS

BODY

GROUND
TERMINAL

WIRE TIE
WITH CLIP

14. Remove the wire tie with clip, which secures the
vehicle harness, from the body hole; then secure
the harness to the body with one cushion tape.

VEHICLE
HARNESS

BLUE TAPE
(Discard.)

6-PIN CONNECTORS

TRAILER HITCH HARNESS

TRAILER HITCH
HARNESS

CONVERTER

15. Using sandpaper, remove the paint from around
the body hole where the clip was removed.

16. Attach the ground terminal of the trailer hitch
harness to the body hole with the washer-bolt,
toothed washer, and flange nut from the kit.
Tighten the bolt securely.

17. Locate the 6-pin connector blue-taped to the
vehicle harness, and remove the blue tape to free
the connector. Plug the 6-pin connector of the
trailer hitch harness into the 6-pin connector you
just freed.

18. Remove the adhesive backing from the converter
of the trailer hitch harness, and attach it to the
body in the area shown.



6 of 9 AII 22904 (0109) © 2001 American Honda Motor Co., Inc - All Rights Reserved.

19. Secure the trailer hitch harness to the vehicle
harness with one small wire tie; then secure the
harness to the body with one cushion tape in the
area shown.

GROMMET

CUSHION TAPES

TRAILER HITCH
HARNESS

TRAILER HITCH

TRAILER HITCH
HARNESS

HOLE

CUSHION TAPE

VEHICLE
HARNESS

TRAILER HITCH
HARNESS

SMALL
WIRE TIE

CUSHION
TAPE

GROMMET
(Discard.)

TRAILER HITCH
HARNESS

20. Remove and discard the grommet from the rear
of the outside panel, and route the trailer harness
out through the grommet hole.

21. Seat the grommet on the trailer hitch harness into
the body hole where the grommet was removed.

22. Secure the trailer hitch harness with two cushion
tapes in the areas shown; then route the harness
through the center of the bumper frame.

23. Continue routing the trailer hitch harness through
the center bumper frame and out through the hole
in the back. Secure the trailer hitch harness to
the center bumper frame with two cushion tapes.



© 2001 American Honda Motor Co., Inc - All Rights Reserved. AII 22904 (0109) 7 of 9

SHOP TOWEL

TRAILER HITCH

TRAILER HARNESS

CUSHION TAPE

24. Place a shop towel over the trailer hitch. Route
the trailer hitch harness through the hole in the
bumper you drilled in step 7; then reinstall the
rear bumper.

Installing the P/S Cooler

28. Remove the front bulkhead cover (11 clips).

25. Secure the trailer harness to the back of the
trailer hitch with one cushion tape.

26. Install the receiver cover on the trailer hitch, then
slide the ball mount into the trailer hitch, and
secure the ball mount with the hitch pin and the
hitch pin clip.

29. Remove the front bumper:

• Remove the four clips and two bolts along the
bottom of the bumper.

• Remove one screw from the inside of each
fenderwell.

• Lift the bumper off of the hooks, and set the
bumper on a blanket while you install the P/S
and ATF coolers.

FRONT BULKHEAD COVER

CLIPS (11)

HOOKSINNER
FENDER

SPLASH
SHIELD

SIDE CLIP

HOOKS

BOLT

CLIPS

FRONT BUMPER

SELF-TAPPING
SCREW

SELF-TAPPING
SCREW

BOLT

27. Reinstall the rear taillights, and reinstall all of the
interior panels.

TRAILER HITCH

RECEIVER COVER

HITCH PIN
CLIP

BALL MOUNT

HITCH PIN



8 of 9 AII 22904 (0109) © 2001 American Honda Motor Co., Inc - All Rights Reserved.

30. With a drain pan under the vehicle, remove the
two bolts and two hose clamps that secure the
existing P/S cooler. Disconnect the P/S fluid
lines, and remove the power steering cooler. Set
the P/S cooler aside; it will not be reused.

31. Place the heavy-duty P/S cooler on the radiator
bulkhead, attach the P/S lines with the hose
clamps, and reinstall the two bolts removed in
step 30. Tighten the hose clamps and the center
bolt, then remove the outboard bolt.

BOLT
(Reuse.)

EXISTING P/S
COOLER
(Not reused)

HOSE
CLAMP
(Reuse.)

HOSE
CLAMP
(reused)

P/S
FLUID
LINE

P/S
FLUID
LINE

HEAVY-DUTY
P/S COOLER

OUTBOARD BOLT
(Install, then remove.)

CENTER
BOLT
(reused)

Installing the ATF Cooler

32. Position the ATF cooler lower bracket over the
P/S cooler bracket, and reinstall the outboard
bolt (removed in step 31) through the ATF cooler
bracket and the P/S cooler bracket. Install the
6 x 15 mm washer-bolt (supplied) through the
upper bracket of the ATF cooler bracket and into
the threaded hole in the radiator bulkhead.
Tighten both bolts securely.

OUTBOARD
BOLT
(Removed in
step 31.)

P/S COOLER

P/S
COOLER
BRACKET

WASHER-BOLT
6 x 15 mm
(supplied)ATF COOLER

UPPER BRACKET

THREADED
HOLE

RADIATOR
BULKHEAD

ATF
COOLER
LOWER
BRACKET



© 2001 American Honda Motor Co., Inc - All Rights Reserved. AII 22904 (0109) 9 of 9

33. Remove the ATF return line from the radiator
return pipe, and attach it to the lower ATF cooler
pipe using one new hose clamp from the kit.

34. Attach one end of the new rubber hose (supplied)
to the upper pipe on the ATF cooler, and attach
the other end to the radiator return pipe using the
remaining two new hose clamps.

35. Separate the new hose and the ATF return line by
installing the hose spacer (supplied) between the
two hoses at the area shown.

ATF INLET
LINE

ATF
RETURN
LINE

ATF RETURN LINE
(Attach to the
lower cooler pipe.)

RADIATOR
RETURN PIPE

NEW RUBBER HOSE
(Attach between the
upper cooler pipe and
the radiator return pipe.)

SIDE VIEW

36. Reinstall the front bumper and the front bulkhead
cover.

37. Reconnect the negative cable to the battery.

38. Enter the customer’s radio anti-theft code, if
applicable, and reset the radio station presets.

39.  Reset the clock.

40. Start the vehicle and check for leaks; repair as
necessary.

41. Check the ATF, and the P/S fluid levesl and adjust
them as necessary.

42. Attach the hang tag around the rear view mirror.

NEW RUBBER
HOSE

ATF RETURN
LINE

ATF COOLER
LINE

HOSE SPACER

FRONT VIEW


